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10g
①
②
③   













①
②








①
②
③
④
⑤1
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12

13

10



1




①
②
③



41,5v


①
②
③


①
②

1,5v
①3,8v
②






(6V; 100mA) (3,5V; 100mA) (2,5V; 100mA) (1,5V; 100mA)

1,5 V

4,5 V

6 V 








123
1,5V1,5V1,5V
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17

1,5V
1,5VA B

+ + + +– –––






1,5v

①
②









4,5v


1,5v
①
②
③












19

20

21

6V1,2V1,2V6V

❶❷❸❹

22

23
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①
–

②
     4,5V     





①


4 3 2 1

②



3 2 1

①L1L2L3
②1

25

26

L1 L3

L2

.L2 L1.
L3

L1 L2.
L3

.

24
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L1L2


L1L2


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